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Net neutrality allows the citizens of the US access to all information at the same 
rate of speed/access. There are no rules that can be setup to allow for tiers that 
would ensure equal access to information.  A tiered system would put larger 
companies at a greater advantage than smaller companies because larger ones would be
able to pay the premiums that the providers set. It is basically limiting freedom of
speech, access to information based on income/capital levels. What makes the 
internet so amazing is that it is unrestricted.  Anyone can start a business online 
with an amazing product and have access to an enormous consumer base without fear 
their product's success will be negatively affected because they didn't select the 
higher performance tier. If the FCC ends Net Neutrality than it would not be 
promoting competition and innovation, but stifling it.  If the FCC ended Net 
Neutrality, the agency would not be supporting the nation's economy by ensuring an 
appropriate competitive framework.  Obviously, there is no competition when one 
stage is greater bandwidth than the other.  If the FCC ends Net Neutrality then new 
technologies would not flourish because established technologies would have an 
increased advantage to beat competition.
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